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1. ABETEEFEE T EE T RBAIAIE? (A) Testis (B) Scrotum (C) Seminal vesicle (D)
Epididymis (E) Cowper’s gland

2. HER RS EEZRY B EME? (A) Progesterone (B) FSH (C) LH (D) Testestsrone ( E)
Estradiol

3. IR ARITTE A A RIS S EHEIN(A) Progesterone (B) FSH (C) L (D)

Testesterone { E) Estradiol

4. DI AR SLAORGIEHE 2 [ERESD (A) All the dairy cattle including cow and bull can
secrete milk (B) Adult dairy cattle produces milk all the year round, never stop (C) Oxytocin
produced by pituitary gland can stimulate contraction of myoepithelum in inammary gland
(D) Prolactin produced by corpus luteum stimulates lactogenesis of mammary gland (E) The
milk formed before parturition called colostrum which is rich in lactose

B IREE R B AR A F BR T S 7 HRAE 845 ? (A) FSH, Pituitary gland (B) PGF2a,
Uterus (C) GnRH, Hypothatamus (D) Estradiol, Ovary (E) Growth Factor, Pituitary gland

L

6. LI TR Estrous cycle 5z Menstrual cycle BYFEH - IIf—IEZ 8519 (A) Horse and sheep are
seasonally polyestrous animal (B) Menstrual cycle occurs primarily in human (C)
Menstruation, also called menstrual bleeding, is the degeneration of endometrium during the
menstrual phase of menstrual cycle (D) The concentration of progesterone is high during the
luteal phase of estrous cycle and menstrual cycle (E) Female will allow male to mount during
the diestrus of estrous cycle

7. AT AR Gametogenesis 89§ » Fi—IEZFEHY (A) Gametogenesis is called
“spermatogenesis” in male and “oogenesis” in female (B) In oogenesis, one gamete will
produce three polar bodies and one ovum (C) In male, one gamete will produce four equal
spermatozoa (D) Spermatogenesis begins at birth and continues throughout its life (E)
Oogenesis will arrest at metaphase of second meiosis untii the cell is fertilized

FETED: FHERE @EAnsERT 0 FRRERNY TIEREEASE | EUERIR R -

1. If the extracellular potassium concentration in a person is increased with no change in
intracellular potassium concentration, what would happen to the resting membrane
potential and the action potential? (5 43)

2. What would vision be like afier a drug has destroyed all the cone cells in the retina? (5 43
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3. Please explain why patients given drugs to treat Parkinson’s disease sometimes develop
symptoms similar to those of schizophrenia? (5 43)

4. What happens to the triglyceride concentrations in the plasma and in adipose tissue after
administration of a drug that blocks ihe action of lipoprotein lipase? (5 43+)

5. Please briefly describe the circadian process in the regulation of sleep circadian thythm. (5

53)
6. FIFEETANHEET (1) GERZIIT (2) ATP ZIHEE - (8 )
7. FABAMARFRMIC EHTIRE - (10 53)
8. FREREIMALSRER affinity ZAHIRE - (8 47)
9. PIRFRETHEINRES S SHEEE] - (15 4)
10. AR SRR TR B - (10 43)

11, FEERBIRR IR IR B TE TR BB  (heat loss)ifF - ATERI IR BERENSE(RETE A
2B - (10 93)
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